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By 3% 4 Fn044£09 7 06 H eI Dt e/ 86 k> (Biir)
fh 4 JE Hh & Wae | %K E=E e T fE g2y ]

X R AbE 10. 00 | #H%F 30 300 1,112
IENE b 10. 00| AHxf 379 3,790 3,240 2,764 2,268
HOR w5 5. 00| FHxf 28 140 3,672 2,330 540
H ¥ E ¥ 15. 00| AHxf 420 6,300 1,080 868 270
ERSEaNe) FiE 10. 00 | ¥ 600 6,000 1,048 689 486
ESF AWII--N E % 4. 00 | FHxF 21 84| 5,022| 4,991 4,968
H & N 3. 00| FHxf 74 222 1,566 1,181 400
B A [ 1. 00| FHxf 210 210 864 746 432
ENIEE so0lfxt| 9 15| 2,700 2,268 1,944
23N B 5. 00| AR} 147 735 1,836 1,538 756
g OBO| 0.40|#A%t| 1,320 528| 140 ol 81
= %% 4. 00 | FHxF 420 1,680 2,592| 2,065| 1,404
[N Bl 5. 00| FA%f 8 40| 2,052| 1,526| 1,080
F o | 500 fxt | s81| 2,905\ 2,160| 1,822 1,296
v—< = 0. 15| FHx} 5, 801 875 70 59 49
_XF b= b eifEE 3. 00| FH*} 566 1,698 2,808 2,391 540
ot g, 2. 00| FHx%f 7 14 756 571 432
H 7% w5 5. 00 [ FH %} 134 670 1,944| 1,6565| 1,404

A—0 4 AbifEE 10. 00| 4B} 60 600 2, 808
= A iRl | 20. 00| FHXY 96 1,920| 3,240 3,218| 2,700
& | 1000 fkf | 425] 4,250 2,376| 2,116 1,620
LA £ ¥ 10. 00 | #H % 1,310 13,100 1,620 1,361 864
P=—1Z A £ B 4, 00| FH*} 513 2,052| 2,484 1,716 1, 296

Tuyal— E B 4. 00| fHxf 5 20 2, 160
AEMEE O 0. 10| #H%f| 3,000 300 146 104 65
LU 5 % 0. 20| FA%F 300 60 92 86 82
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P g SR
ESR S TR = 1 =i Q1 IV NI )
Rz A F1044£09 H 06 H EFER S 38 b (Biir)
fh 4 JE Hh & Wae | %K E=E = A T fE g2y ]
DOND H & 10. 00| FA % 298 2,980| 3,780 3,206| 2,700
= ® | 1000 fxr| 21| 210 2,700| 1,034 756
B oK £ 10. 00| AHxf 1, 495 14,950 3,456 2,997| 2,484
AL o 10. 00| AHxf 840 8,400| 4,517 3,935 3,240
K & 5. 00| FA%f 637 3,185 3,564 2,690 1,620
(S £ ¥ . 35| FA%F 150 53 454
B A — % [T . 00| FHXT 58 116 1,728| 1,546 1,188
B[S oAk L 0. 30 | FHx} 900 270 302 287 248
NEYIN o e 10. 00 | #H%F 50 500 4, 860
e O 10. 00| AHxf 33 330| 15,120 12,240[ 10,800
Avara 74 V¥ | 13.00] fH%E 16 208| 2,484| 2,443| 2,376




